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QTET=T T3 :
fHETfeTRad f+aeTl &1 51ga aradT1 8 ieq 3R 371 %ed] @ UIet #iforg :

(1)
(ii)
(iii)

S YII-IT H 38 T 8 | AHT Jv7 AATH & |

I8 Y997 Qi @USI 4 f[A91fSid 8 — &, @, T, 905 & |

QS & H Y9 G&41 1 9 18 d% aglasedid (MCQ) 91 Y34 G&aT 19 TS 20 371%%9 T
e STNG 1 3% % T2 |

(lv) WUS @ H YT GET 21 9 25 T 3fd 73T (VSA) PR & 2 3 & TH 8 |

(v)  EUSTH Y G126 § 31 7% TG-I70 (SA) YhR % 3 37l & JF & |

(vi) EUS T H I Gl 32 ° 35 e -1 (LA) TR & 5 3ol b T 8 |

(vii) WU T T T3 T 36 T 38 T JHUT eI MG 4 371 & I9H 8 | T JHT
37 H SIANF fdaheq 2 3Tl & Jo7 4 1dAT T 8 |

(viii) S9-99 H GHY fdacq 98] a2l T 8 | FEIfU, @ @ % 2 J¥H1 6, @UE 1% 2 Tl H, @ §
& 2 v I a1 @UE § % 3 Y1 B TR Tdaheq 1 T 1dI1 T 8 |

(ix) TG 37T 5l W= AT sH15Y | T&T STTeIF &l 70 = % A, F13 37497 7 Taar
TITE |

(x)  FePciet I TN AIATE |

T &

59 @S 7 20 Tglahedid 5o (MCQ) €, 15178 Yoo e 1 3 F1 8 | 20x1=20

1. aﬁawB,ang3X2+6x+ké%W%ama+B+ocB=—g%,?ﬁk?m"rm?%:
A) -8
B) 8
Cc) -4
(D) 4
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.
In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs)

and questions number 19 and 20 are Assertion-Reason based questions of
1 mark each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions in
each case study.

There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section C, 2 questions in
Section D and 3 questions in Section E.

: : 22 :
Draw neat diagrams wherever required. Take m = 2 wherever required,
if not stated.

Use of calculator is not allowed.

SECTION A

This section has 20 Multiple Choice Questions (MCQ@s) carrying 1 mark each.20x1=20

1. If o and P are the zeroes of polynomial 3x2+ 6x +k such that
a+pP+opf=- g, then the value of k is :
A -8
(B) 8
Cc) -4
(D) 4
30/1/1 # 3| Page el P.T.O.
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2. Akx=1dMy=2 WarqflmUITH2x — 8y +a=0qA2x + 3y —b = 0 FITH

W%,T‘ﬁ:
(A) a=2b
B) 2a=Db

C) a+2b=0
(D) 2a+b=0

3.  Togal P(- 4, 5) 71 Q(4, 6) ! Tt dTet {@T@ve =i qe-feig ford @ -

(A)  x-JAFIR
(B) y-3I&FTW
(C) 7oy

(D) T x-3TF WA T & y-FT T

4. AROITHMEINT7 +4sin0=9 2, AWOFAAS :

(A 90°
(B) 30°
(C) 45°
(D) 60°

5. tanze—( 1 xsec@] FHAAE

cos O
(A)
B) O
Cc -1
(D) 2

6. ITHCF(98, 28) = m a1 LCM(98, 28) =n®, dn— Tm HAAE :

A 0
(B) 28
(C) 98
(D) 198
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If x =1 and y = 2 is a solution of the pair of linear equations 2x — 3y + a=0
and 2x + 3y — b =0, then :

(A) a=2b
(B) 2a=b
(C) a+2b=0
D) 2a+b=0

The mid-point of the line segment joining the points P(— 4, 5) and Q(4, 6)
lies on :

(A) x-axis

(B) y-axis

(C)  origin

(D) neither x-axis nor y-axis

If 6 is an acute angle and 7 + 4 sin 6 =9, then the value of 0 is :
(A 90°

(B) 30°

(C) 45°

(D) 60°

The value of tan? 6 — ( X sec 9) is :

cos 0

A 1

B) 0

Cc -1

(D) 2

If HCF(98, 28) = m and LCM(98, 28) = n, then the value of n —7m 1is:
A O

(B) 28
(C) 98
(D) 198
30/1/1 # 5| Page el P.T.O.
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7. Toreh 39 % T8 o BRI WGl TS TRl a9 e

(A) O BNt
(B) deadardis
(C) THMEE
(D) dfe=ad ardt &

8. PWSIABCTWWIDEFH,/B=/ZE,£F=/CdaTAB =3DE®, A3 (9 :
(A)  EENTEH § W] GHET TE §
(B)  EINTHH qT GHEY &
(C)  TqrHatTen AR A& qHET &
(D) EHEY & W] HaTHH A8 &

9. AR +(-1)8=0%,dn:
(A) IS g IR 2
(B) s 1 qUTIh &
(C) 1 fawmdEr e
(D) HEEATEE

10. = T Tq UT W, 3 SEURT hi fe@rT T R | 3 ST SgUal o e Yol ol He R
y

BAVARVE
NLA

A 3 B) 5
C 2 (D)
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7. The tangents drawn at the extremities of the diameter of a circle are
always :
(A) parallel
(B)  perpendicular
(C)  equal
(D) intersecting
8. In triangles ABC and DEF, £/ B=ZE, Z F = £ C and AB = 3 DE. Then,
the two triangles are :
(A)  congruent but not similar
(B)  congruent as well as similar
(C)  neither congruent nor similar
(D)  similar but not congruent
9. If (-=1)® + (-<1)8 = 0, then n is :
(A) any positive integer
(B) any negative integer
(C) any odd number
(D) any even number
10. Two polynomials are shown in the graph below. The number of distinct
zeroes of both the polynomials is :
y
X' \/<X > X
yr‘
A 3 B) 5
Cc) 2 (D)
30/1/1 # 7| Page Rela P.T.O.
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11. 3 forell @HiaT 21€T o o m W1 %1 A6 2m? + 3m 2, A $HH GHU TS & :
(A) 10
B) 9
(C) 12
(D) 4
12.  Toref STTohei o aIgareh qT HTEd ShATsT: 15x QT 18x § | 1 5 STTehg] ohl HTEAh & :
(A x
(B) 11x
(C) 17x
(D) 34x
13. QT T 52 TR T TSN H | A1GeSAT Teh YT FHhTeAT 79T | $6 U< o Ueh olTed T ah
TR AT U= B4 ol ITRIeRAT &
3
(A) 13
2
(B) 13
1
(C) 2
3
(D) 26
14. feafafed & @ si9-d uf@e gar /3 qar 5 sl fiur gean e 2
(A)  1-4142387954012 ....
(B) 2326
C) =
(D) 1-:857142
30/1/1 # 8| Page R



11. If the sum of first m terms of an AP is 2m?2 + 3m, then its second term is :
(A) 10
B) 9
C) 12
(D) 4
12. Mode and Mean of a data are 15x and 18x, respectively. Then the median
of the data is :
(A x
(B) 1ix
C) 17x
(D) 34x
13. A card is selected at random from a deck of 52 playing cards. The
probability of it being a red face card is :
3
A 2
(A) 13
2
B il
®) 13
1
C el
(C) 5
3
D =2
(D) 26
14. Which of the following is a rational number between V3 and V5 ?
(A) 1-4142387954012 ....
(B) 2326
C) =
(D) 1-857142
30/1/1 # 9| Page el P.T.O.
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15. 9 T g9 % FISorave & &hat 407 I SohTS & AT ok TX ST 10T 72° 8, T I i

e

(A) 200 3FTE
(B) 100 3T$
(C) 203HE
(D) 10+/2 3T

16. i T AT H, s O AT I W T e foig P & ok wqwi-t@n PA @i S R | I
£ POB = 115°8,dl £ APO SRR & :
A

115°

B
(A)  25°
(B) 65°
C) 90°
(D) 35°

17. T 94T 9 & 150 m =l S8 W38 W 2 | I8 5 S | S @ % offu s aifet
Ta=IT & 30° 3T 10T ST & | ST Al TS & -

(A)  100~/3 m
(B) 300m

(C) 15042 m
(D) 15043 m

30/1/1 # 10| Page s



15. If a sector of a circle has an area of 407 sq. units and a central angle of

72°, the radius of the circle is :

(A)
(B)
(C)
(D)

200 units
100 units
20 units
10+/2 units

16. In the given figure, PA is a tangent from an external point P to a circle
with centre O. If £ POB = 115°, then £ APO is equal to :

(A)
(B)
(C)
(D)

A

115°

25°
65°
90°
35°

17. A kite is flying at a height of 150 m from the ground. It is attached to a
string inclined at an angle of 30° to the horizontal. The length of the

string is :
(A) 10043 m
(B) 300m
(C)  1504/2 m
(D) 150+/3 m
30/1/1 # 11| Page el P.T.O.
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18. 20 cm We TR % T The 60 e Fram a1et ot 1 ook =T 36 & 3 Hrer | 3@
1
I o e 9L AT GRT SN 012 -

(A)
(B)
(C)

(D)

30°

60°

90°

50°

Y7 GEAT 19 3R 20 371759 Td 7o HATYTRG 994 & | &1 9 Q0 7TT & 15794 e ol 37%7eha
(A) eI G 1 0 (R) G 3ifehd Toha1 711 € | 79 91 % Hel S Tl 158 ¢ #Isi (A), (B),
(C) 3R (D) 4 & gAa <l1fre |

(A)

(B)

(C)

(D)

JARTHAT (A) 3 dh (R) ST T&1 & 3T deh (R), 3TTHRAT (A) T Gl amedn
FATR |

AR (A) 3R T (R) THT Wel &, Tq T (R), MR (A) =l @l

ITSAT T2l T & |

R (A) W1 8, T @ (R) TTeTd € |

3AfH (A) Ted 8, W o (R) T 2 |

19.  3YFEIF(A): 19 20 dh ! GEATA H U I1goadT Teh ST I ol ITRIehdT 12 |
% (R) - et TeT Eo i, 9fe P(E) = 18, a7 E Teh (Hied ST 8l 2 |

20. 3fYFHIT (A): IR TH GHH AT a1t 7 STEIAT Bl 96 SURT § Sed 8, of 8H

Teh TTTAT 9T BT © |

@ (R) - r IS AT 7Tt 1 €01 TS &5 Snr2 EaT g |
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18. A piece of wire 20 cm long is bent into the form of an arc of a circle of

radius 60 cm. The angle subtended by the arc at the centre of the circle

is
(A)
(B)
(C)

(D)

T

30°

60°

90°

50°

Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled as Assertion (A) and the other is labelled as

Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A)

(B)

(C)
(D)

19. Assertion (A) :

Reason (R):

20. Assertion (A) :

Reason (R):

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

The probability of selecting a number at random from the

numbers 1 to 20 is 1.

For any event E, if P(E) = 1, then E is called a sure event.

If we join two hemispheres of same radius along their
bases, then we get a sphere.

Total Surface Area of a sphere of radius r is 3nr2.

30/1/1
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LCLCRC]

39 @UE F 5 37fd T3 (VSA) TR 3 T 8, 170 T o 2 3% 3 | 5x2=10

21. (F) IR x cos 60° +y cos 0° + sin 30° — cot 45° = 5 B, al x + 2y T AH J1d

I |
reraT
2
t 60°
@) s I AE A I
sin“ 60° + cos“ 30°
o 4 4
22. ¥gYQ p(x) = x* + gx—g%wm?ﬁﬁql

23.  Th I o ohg o [T (2a, a — 7) € | Al g I foig (11, — 9) W EIeRT STTaT & e
THHT T 10+/2 THTS B, 1T “a’ /e T J1d HIfTT |

24. (F) I AABC ~ A PQR ® S84 AB = 6 cm, BC = 4 cm, AC = 8 cm 9T
PR = 6 cm , @1 (PQ + QR) T TS I ShifST |

HAAT

@) &S 3TTHMd H, % = % qAT £ 1= £ 2 &, drewnsy 5 A PQS ~ A TQR.

T

30/1/1 # 14| Page



SECTION B

This section has 5 Very Short Answer (VSA) type questions carrying 2 marks
each. 5x2=10

21. (a) If xcos 60°+ycos 0°+ sin 30° — cot 45° = 5, then find the value of
X + 2y.

OR

tan2 60°

(b) Evaluate : 5 5
sin“ 60° + cos“ 30°

22. Find the zeroes of the polynomial p(x) = x2 + %X -3

23. The coordinates of the centre of a circle are (2a, a — 7). Find the value(s)
of ‘a’ if the circle passes through the point (11, —9) and has diameter
10+/2 units.

24. (a) IfAABC ~ A PQR in which AB =6 cm, BC =4 cm, AC =8 cm and
PR = 6 cm, then find the length of (PQ + QR).

OR
(b) In the given figure, QR = Qr and £1=22, show that
QS PR
A PQS ~ A TQR.
T
15
1 2
Q S R

30/1/1 # 15| Page P.T.O.

Ol



25.  eh Sdfehd Toh TR AT o o5 & 26 m 1 gt W ford T airep feig P @ei 2 | 5)8
9@l & foh g o 2 fogell A 991 B @ 3@l gt 10 m & (PA 3R PB 90 W
@ &) | IR HaTH shi Forsam 1d i |

Qus T

T4 GUS H 6 TY-IHIY (SA) YohR & J97 8, [S4 Jeioh & 3 3 6 | 6x3=18

26. (%) TS AT H, O 6 1 g € 991 BCD foig C W wawi-van 2 | frg shifore for

2 BAC + £ ACD = 90°.

A
v
; R A
HYAT
@) g AR B e o S B A B ) e
3 T HITH 10T AN L & |
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25. A person is standing at P outside a circular ground at a distance of 26 m
from the centre of the ground. He found that his distances from the
points A and B on the ground are 10 m (PA and PB are tangents to the

circle). Find the radius of the circular ground.

SECTION C

This section has 6 Short Answer (SA) type questions carrying 3 marks each. 6x3=18

26. (a) In the given figure, O is the centre of the circle and BCD is tangent

to it at C. Prove that © BAC + £ ACD = 90°.

A

A 4

OR

(b)  Prove that opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

30/1/1 # 17| Page el P.T.O.
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27. (@) TEHNuRs: tan 0 + cot 0 =1 + sec 0 cosec 0
l1-cot®6 1-tan®6

HAAT

inA+cosA sinA—cosA 2
m ﬁﬁ _%F: S1in + =
®) sinA—-cosA sinA+cosA  2sin? A-1

28. € IJUTA A HIfWC forerd y-31e7 feigatl (5, — 6) qT (— 1, — 4) i T ot trers
=Rl ferwTford =edT & | Sicreeed feig Wt Jra shifery |

29, faghicufe % Teh IRAT §&aT R |

30. T FHHU ST o TN 1 & Foideh 30T Toh SRR 1o FLARUA & | HLTA o
TR T BT, SRR 9T bl T8 ohl et © | afe sg v | % m? qg 8, @l

ST AT A S 1 R | (1 = 27_2 v IR

31. < UTY Uk 91 3BT T | SHT I1E] G TS ST T 31X 2 B hl TTR¥ekdr J1d
e |

Qus g

39 @UE H 4 313909 (LA) SR I3 3, (S8 I & 5 3% 3 | 4x5=20

32. o5 3 T AISIRA A QT B H, ST UL 8% TNk qT 9% TN oA 4dl &, §
FO-FS RN o2 7 | 30 Fed % 1,860 STk SATST AT §HAT | Il IR 36 &l
FISHTSAT # faeT i ARET i A9 § 98 A1 g, a1 3 STk o391 T 20 3T
ITCd BIdT | JTd SIS foh 36 Tcdieh Fisir 8 forat wis faer <
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27.

28.

29.

30.

31.

tan 6 cot O

+ =1 + sec O cosec O
1-cot6 1—-tan®

(a) Prove that :

OR

sinA+cosA sinA-cosA _ 2
sinA—-cosA sinA+cosA  9gin2 A_1

(b) Prove that :

Find the ratio in which the y-axis divides the line segment joining the

points (5, — 6) and (— 1, — 4). Also find the point of intersection.

Prove that i 1s an irrational number.

NG

A room is in the form of a cylinder surmounted by a hemispherical dome.

The base radius of the hemisphere is half of the height of the cylindrical
part. If the room contains %m:g of air, find the height of the

cylindrical part. (Use i = 27—2 ).

Two dice are thrown at the same time. Determine the probability that the

difference of the numbers on the two dice is 2.

SECTION D

This section has 4 Long Answer (LA) type questions carrying 5 marks each.  4x5=20

32.

Vijay invested certain amounts of money in two schemes A and B, which
offer interest at the rate of 8% per annum and 9% per annum,
respectively. He received ¥ 1,860 as the total annual interest. However,
had he interchanged the amounts of investments in the two schemes, he
would have received T 20 more as annual interest. How much money did

he invest in each scheme ?

30/1/1
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33. (%) UHUHIR IGHS ABCD =i faevl BD, W@r@vg AE 1 foig F 0 shred &, STl
E 9T BC W feorq =15 foig | forg AIfSTC f DF x EF = FB x FA.
areraT
@) AABC ¥, 3@ AD L BC @ AD2=BDxDC ®, a fag Fifsg f*
Z BAC =90°.
34. (F) UH UK BAYS T IRATT 60 cm & T 36 U1 shl @il1s 25 cm 8 | BN ht
31 1 VSIT3AT <l AT HT hITSTT |
arera
(@)  Teh LTSt 480 km i gl THEHT =Tet H 77 sh{dl @ | AT 380ehT =Tet 8 km/h
M I, 1 39 9 gt o A U 3 =S Fferen T | Wrmgt =l 9
EAEI
35. TR droft § e SRENAT 6 1 i, Afe QT stiereh 1 arey 182 | 374
Al T TEA T hI1T |
Qe o <] i G
11-13 7
13-15 6
15-17 9
17-19 13
19-21 f
21 -23 5
23 - 25 4
30/1/1 # 20| Page R

[Oltc



33. (a) The diagonal BD of a parallelogram ABCD intersects the line
segment AE at the point F, where E is any point on the side BC.
Prove that DF x EF = FB x FA.
OR
(b) In AABC, if AD1BC and AD?=BDxDC, then prove that
Z BAC =90°.
34. (a) The perimeter of a right triangle is 60 cm and its hypotenuse is
25 cm. Find the lengths of other two sides of the triangle.
OR
(b) A train travels a distance of 480 km at a uniform speed. If the
speed had been 8 km/h less, then it would have taken 3 hours more
to cover the same distance. Find the speed of the train.
35. Find the missing frequency ‘t” in the following table, if the mean of the
given data is 18. Hence find the mode.
Daily Allowance | Number of Children
11-13 7
13-15 6
15-17 9
17-19 13
19 -21 f
21-23 5
23 - 25 4
30/1/1 # 21| Page el P.T.O.
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Qs s

3G GUE H 3 KU 37 TR G99 & 78 YA & 4 HF 8 | 3xd=12

Th{0T 3794 - 1
36. & foierd ST STEIdTe o fIC & e & S1e! 31 ol SRS L &1 8 | 318 1
IISHT Th ¢k oh IR 3R 3 FFhll I AT o TG § 418 T8 =, [0 Tk =ahl
300 HIET T NN | 39 STRISH &I 3R AR I ST ANF a4 & g,
STAISTohT = ST Yook =Iefeht =hl g 2l 50 HICT SIGH T ST fHAT | SETETM o feig,
TE <L 350 HI, G TRt 400 HieT R 38t T AT | AISHIShg, SIeFhll ohl
FAHEAT 10 2 |

SRIeR &Y T8 SIHeRI o TR 9T, FHHTeTRad S o 3 SR :

() 9 JhR o GHIGT T T e, Uied] 92 ©a1 ue faifgu | 1
(ii) e <IeFRT H o s 175 g F1el shifeiy | 1
(i) (F) 10 <IFRR G HT G A hl TS el g F1el shieIg | 2
areraT
(iii) (@ 9 T IS ATAT hacd U8t 6 Tl JL X U1, T IHeh G o hl T3
%ol ¢ 1 R | 2
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SECTION E

This section has 3 case study based questions carrying 4 marks each. 3Ix4=12

Case Study -1

36. A school is organizing a charity run to raise funds for a local hospital.
The run is planned as a series of rounds around a track, with each round
being 300 metres. To make the event more challenging and engaging, the
organizers decide to increase the distance of each subsequent round by
50 metres. For example, the second round will be 350 metres, the third

round will be 400 metres and so on. The total number of rounds planned
is 10.

Based on the information given above, answer the following questions :

(1) Write the fourth, fifth and sixth term of the Arithmetic Progression

so formed. 1

(ii)  Determine the distance of the 8th round. 1

(iii) (a)  Find the total distance run after completing all 10 rounds. 2
OR

(i11)) (b)  If a runner completes only the first 6 rounds, what is the
total distance run by the runner ? 2

30/1/1 # 23| Page el P.T.O.
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Th0T g - 2

37. 9 U GOE O] & S STohet Sohe, SIS AT 38 S FUSl W T STl & dTieh
eIl QTS ST 6k | SgHed arqall ¥ M iR Tl @ gafssid, sia 3 AR 3R

IESIEER IR

T U JATRR S hl =14] oh dR & ST 4T &, SrfeRt e 85 mm ® | IR &1 9
5 ST bl o H it S foram 1 &, S 38 10 seR Brsaavet | fatiord & 2,
S fom aTmepfr & quifen T R |

SUerd a1 TTg STHeRRT o SATIR W, FHHffad et o 3w i
(i) Y FHISTEUS T Shl hivT J1d ShIfSTT |

(i) <M ACB 3 &alTs J1d I |

(iii) () % T DISIEUE 7 &% J1d hifTT |

AT
(i) (@) SENT I TS et oh A AT et AT F1d hIfSTY |
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Case Study - 2

A brooch is a decorative piece often worn on clothing like jackets, blouses
or dresses to add elegance. Made from precious metals and decorated
with gemstones, brooches come in many shapes and designs.

One such brooch is made with silver wire in the form of a circle with
diameter 35 mm. The wire is also used in making 5 diameters which
divide the circle into 10 equal sectors as shown in the figure.

Based on the above given information, answer the following questions :
(1) Find the central angle of each sector.
(i1)  Find the length of the arc ACB.

(111) (a) Find the area of each sector of the brooch.

OR

(iii) (b)  Find the total length of the silver wire used.
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TeRTUT T — 3
38.  3THAT U TIEETSH o SN § F g T TS & 79T 36 MY 1 96 & & | 36 2
T 31T 1T 60° I | I, 98 9 THIF T & Fahe 40 Hied 3= Tk SAaclien
3 W TG TS qAT T8 U I8 ATSLEISH o Y hi S~I hIT 45° U |

h
B 450 v
pH D
40 m
60°
£ 4

A E
SRIeR &Y 118 SR o SATER 9L, FHfetiad S o 3w g -
(i)  Ffe CD i weTg h Hict €, dl h’ o uai # gt BD I IS |
(i) e uei gl BC I iV |
(iii) (%) IR il 3ams CE Frd il | [3 = 1-73 7= hifsg)

HYAT
(i) (@ 3IMTAC=100m &, d 3 AE Id HIfer |
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Case Study -3
38. Amrita stood near the base of a lighthouse, gazing up at its towering
height. She measured the angle of elevation to the top and found it to be
60°. Then, she climbed a nearby observation deck, 40 metres higher than

her original position and noticed the angle of elevation to the top of
lighthouse to be 45°.

h
B 450 v
AN D
40 m
60°
A D

Based on the above given information, answer the following questions :
(1) If CD is h metres, find the distance BD in terms of ‘h’.
(i1)  Find distance BC in terms of ‘h’.

(iii) (a)  Find the height CE of the lighthouse [Use V3 =173]

OR
(i11)) (b)  Find distance AE, if AC = 100 m.

N~
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